RollNo.: [ || | | [ LI L]

Test Date:| 08-05-2022|

Aakas
T @oUs

Booklet Code

ALL INDIA  AAKASH  TEST SERIES

Jor

Medical Entrance Exam - 2022
National Eligibility-cum-Entrance Test (NEET)

(XII Passed Students)

INSTRUCTIONS FOR CANDIDATES
Read each question carefully. 8. Each correct answer carries four marks. One mark will be\

It is mandatory to use Blue/Black Ball Point Pen to darken the deducted for each incorrect answer from the total score.

appropriate circle in the answer sheet. ) ) . Before handing over the answer sheet to the invigilator, candidate
Mark should be dark and should completely fill the circle. should check that Roll No. and Centre Code have been filled and
Rough work must not be done on the answer sheet. marked correctly.

Do not use white-fluid or any other rubbing material on answer
sheet. No change in the answer once marked is allowed.

Student cannot use log tables and calculators or any other material
in the examination hall. . There are two sections in each subject i.e., Section-A & Section-B.

Before attempting the question paper, student should ensure that You have to attempt all 35 questions from Section-A & only
the test paper contains all pages and no page is missing. / 10 questions out of 15 from Section-B. /

. Immediately after the prescribed examination time is over, the
answer sheet to be returned to the invigilator.

Note : It is compulsory to fill Roll No. and Test Booklet Code on answer sheet, otherwise your answer sheet will not be considered.




Physics

Chemistry

[ Test No. 7 ]

TOPICS OF THE TEST

Ray Optics & Optical Instruments, Wave Optics, Dual Nature of Matter and
Radiation; Atoms, Nuclei, Semiconductors.

N

The p-Block Elements, Hydrogen, General Principles and Processes of Isolation of
Elements, Biomolecules, Polymers, Chemistry in Everyday Life, Environmental
Chemistry.

N

Organisms and Populations, Ecosystem, Biodiversity and Conservation,
Environmentalissues.

N

Strategies for Enhancement of Food Production: Animal Husbandry,
Biotechnology-Principles and Processes, Biotechnology and its Applications

N




Test-7 (Code-E) All India Aakash Test Series for NEET-2022

MM : 720 l TEST -7 I Time : 3 Hrs: 20 Mins.

[PHYSICS]
Choose the correct answer:
SECTION-A SECTION-A
1. A concave mirror cannot form 1. Al w3A ... AL ascl el
(1) Virtual image of virtual object (1) el crdey ieull ylalol
(2) Virtual image of real object (2) AlrdQs qkioi el ylle
(3) Real image of real object 3) AldRs clado] ad@s YR

(4) Real image of virtual object

(4) et crge] aralds yldldo

2. A convex mirror of focal length f produces an image .
2. f3oaciolld uRlaldl As ol(@alln WA crdell

%rd of the size of the object. The distance of the

5€ sl % elole] ylallo 2 B, wilaell

object from mirror is

drde] AR ........
(1) f (2) 3f R
(1) f (2) 3f
(3) 3 (4) 2f 3f
2 3) £ (4) 2f

3.  In compound microscope, if the objective produces 3 %{q&d Q-L&HE%‘[S 2oL, vl cdsLU Io u[a@o{

A U AAAsLA £, ylAlled A A,

an image lb and the eyepiece produces an image

le, then

(1) Iois virtual but /s is real (1) o vierll wet /o drdl@s 8.
(2) bisreal but I is virtual (2) I ARA@Ss el f, ueul .
(3) land /. are both real (3) lua [, ol crdds Sl

(4) lhand Ic are both virtual (4) foua J, ol veul St

4. Two plane mirrors are inclined to each other at an 4 A uddd wia Asolost WA 60° ol Uj\@

angle of 60°. A ray of light is reflected first at one

mirror and then at the other. The total deviation of Rl ©. % st [%QQL HaH As Mﬂ%ﬂ ol

the ray will be ugl oflt udlal uell wilalda aa A
(1) 240° (2) 100° (32010 st (Qucst ... g,
(3) 150° (4) 60° (1) 240° (2) 100°

(3) 150° (4) 60°
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5.

A water film is formed on a glass block. A light ray
is incident on water film from air at an angle 30° with

the normal. The angle of incidence on the glass

slab is [p,w :%and Hg = gj

2
(1) sin”! (%)

(3) sin”’ [?]

In case of minimum deviation for a prism, the angle
of incidence is equal to

(1) Half the angle of emergence

(2) Twice the angle of emergence

(3) Angle of emergence

(4) Thrice the angle of emergence

Match the following in case of refraction through
prism (i1 = angle of incidence, i = angle of

emergence, A is angle of prism and & is the angle
of deviation)

Column | Column Il

(A)|For normal (P)|6=90°- A
incidence

(B)|For normal (Q)|18=i2+90°-A
emergence

(C)|For grazing (R)|d=k-A
incidence

(D)|For aray at normal |(S) |5=i1—A
incidence and
grazing emergence

1) A>R,B>S,C->Q,D->P
2y A>S,B>R,C—>P,D>Q
3) A>-QB>R,C—>S,D->P

4) A-Q,B—>S,C»>P,D>R

5.

slAail oclls UR WRlloll (3ed A B Ysiale]
(320 scuniel welsl (e uR dol A 30°

HE WA AUd UA B, sl AL UR

4 3
AL, [p,w 252&"1 Hg =§j

BULASRL

.11
(1) sin (ﬁj
(3) sin‘{%)

Qo UR  Yoidy  ([Qudstsil

(Bunl

AUULRLSRL ... GRIGR QA B,

(1) olHatsEl ws

(2) Bl sl wHel

(3) [dluet slaL

(4) GlMctslaEl 2t awl

Rosu 1Rl aldeicotoll (51 W2 ol Astl Assi
HSL. (ir = BUUASRL, iz = (Aot SlaL, A DosH
sleL wa § [QuAst5L B)

Column i

(A)ldot auuc e |(P)[3=90°-A

Columnl

(B) it Qoluat iz |(Q)[3=12+90° - A

O)lauwdd aniqz  |R)[5=2-A

UL HLe

(D) |cioizaiutd 4 (S)|s=ir—A
AU YHIAR

(ol et 32

1) A>R,B>S,C—->Q,D->P
2y A>S,B>R,C—>P,D>Q
3) A>-QB>R,C—>S,D->P
4) A-Q,B—>S,C»>P,D>R
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8.

10.

11.

A diverging lens of focal length 10 cm, having

refractive index g is immersed in a liquid of

refractive index 2. The focal length and the nature
of the lens in the liquid is

(1) 20 cm, convergent

(2) 20 cm, divergent

(3) 18 cm, convergent

(4) 72 cm, divergent

A ray of light incident at an angle 6 on a refracting
face of prism emerges from the other face normally.
If the angle of the prism is 5° and the prism is made
of material of refractive index 1.5, the angle of

incidence is
(1) 30°
(2) 60°

(3) sin™ (%sin5°j

(4) sin (gsin 5°j
2
Nature of wavefront primarily depends on
(1) Shape of source
(2) Distance of source
(3) Intensity of source
(4) Neither (1) nor (2)

Unpolarised light of intensity 16 W/m? passes
through a polariser and analyser which are at an
angle of 30° with each other. The intensity of the

light coming from analyser is
(1) 83 Wim?

(2) 6 W/m?

(3) 8 W/m?

(4) 23 W/m?

8.

10.

11.

AS 10 cm Hoadollss YRl g alselcells

Rl HUUAI Aodlal 2 alseldetis Ul
Yaglii golsatdi wd 8. yauglui Aodoll

Ys(d wal Joscioll® ... (LI

(1) 20 cm, A3
(2) 20 cm, AUUUR
(3) 18 cm, A@3
(4) 72 cm, AUUURL
Qosuell aldetctotsizs AUl UR 6 WA UL
ad ustaeg (300 ofly Awdl wredl don
(Qolat WA B, A Qosuslel 5° §lal el [Josu
1.5 dlselcells uRlddl scoll dacdll §lal Al

WULASL ...
(1) 30°

(3) sin™’ (%sin5°j

(2) eQ°
(4) sin™ (gsin5°j

..... UR WLUR AW

ARIRAYeAl UsIR Hu
®.

(1) GEIHL AR

(2) GEIHall AR

(3) Geatoll llac

4) (1)3 (2) Asul o8l
16 Wim? dladl ugadl aydled usla
Asollnell 30° oll WA AN As WARABRR
Ual As Valcssuidl uwR wAa B,
A1l ystalell

HeR ALl
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12.

13.

14.

15.

In a diffraction pattern due to a single slit of width
'a', the first minimum is observed at an angle 30°
when light of wavelength 5000 A is incident on the
slit. The slit width is

(1) 1 um
(2) 2 um
(3) 3um
(4) 4 pm

In Young’'s double slit experiment, the resultant
intensity at a point on the screen is 25% of the
maximum intensity of central bright fringe. Then the
phase difference between the two interfering rays

at that point is

T
3

T
@ 5

T

(3)

2n
(4) >

The structure of crystals can be studied using
(1) Diffraction of visible light

(2) Diffraction of X-rays

(3) Interference of sound waves

(4) Refraction of radio waves

In YDSE experiment, if a thin transparent glass
plate of thickness t and refractive index g is placed

in the path of one of the two interfering wave of light,

then the path difference between the two waves is

5t 3t
1) 2=
) 3

@ 5

12.

13.

14.

15.

? Uslousell As kA2 gkl (Qadel eitdHi
YR 5000 A dRolAGUBe Uslal GuAloWHl
AAHL WA RUR YAUH ool 30° oll WAl
Bl 1A B. Reteoll uglous ......

2ololl A RA2ell Yol 818 As (olg watn
uReuHl dladl Hrare ysil@ld  acustell
dlatctioll 25% HA . i (g 2010 cauldsel
ojelclcdl A (300 dA sal dsldd ...

(1)
(2)

@)

oo|';,\’ Ala ola w|a

(4)
ol GuoLl

252 8loll CluUlR0Lell AeUM
JCEIER)

(1) g2uMlet Uslalell [Qadstell
(2) X-rays ail (Qadetell

(3) talldct2o0atl caldsaedll
(4) 232 200l alsetaatell

dololl A RAoll YA, A culdsel
Uajecdl A yslaBRenHil sle Asell 1ol

t siee(l ua g asetaetis wrpladl dsdl

HsAHL AUA dl A dAR0N HE U dsledd .......

5t 3t
" 3 @ 5
t
@ 5 @) ¢
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16. A photon in motion has equivalent mass of

17.

18.

19.

(symbols have their usual meaning)

An electron of mass m when accelerated through a
potential difference V has de-Broglie wavelength A.
The de-Broglie wavelength associated with a
proton of mass M accelerated through the same
potential difference is

If the energy of electron increases by the factor of
9, then its de Broglie wavelength

1) Does not change

)
2) Decreases by a factor of 9
)

3) Increases by a factor of 3

(
(
(
(4) Decreases by a factor of 3

The work function of aluminium is 4.2 eV. If two
photons of energy 3.5 eV strikes an electron of
aluminium one after the other, then emission of
electrons is

1) Possible
2
3

4

Not possible

(1)
(2)
(3) Data incomplete
(4)

Depend on the area of the surface

16.

17.

18.

19.

alld sl Sleloto] AU EOL ... (Rl

Axell YARAA 14 B)

m €0ell B8AsRelal AR ([Agd @AMt
dstad v dd yabld sadl wa @R el
£ Alocll RIS 2 HA B. M EAll YRlotal
ALt (AYARAQAHLet dstad ad Yyabld scl
Aoll A AsuAA €-6locll ARAAWSS .........

Am m
O W @ Mu
(3) M (4) s M
m m

% 8As2lotell Gl 9 1Rl sclHl WA Al Aol
£-aloc{l dRolcA o

(1) olectlcl otell.

(2) 9 Hi euololl wal B.
(3) 2L ol va B

(4) st ewolell val B.

ARJMAuHs] abss2et 4.2 eV B. A 3.5 eV
Gxl wRddl A gt As uAl As
ARACAHAl S8ASRet WA AASIA Al
B8AsRole] Gu%ol ... .

(1) s
(2) AU
(3) A wyel

(4) AUElotl AASO UR AR AW B.
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20.

21.

22.

23.

24.

The work function of a metal is 1.6 x 107'°® J. When
the metal surface is illuminated by the light of
wavelength 6400 A, then the maximum kinetic
energy of emitted photoelectrons will be (Planck's
constant h=6.4 x 1073 J s)

(1) 14 x107"°J

(2) 2.8x107"°J

(3) 1.4x107"°J

(4) 1.4 x107"° eV

In a photoemissive cell with exciting wavelength A,
the fastest electron has speed v. If the exciting

wavelength is changed to % the speed of fastest

emitted electron will be

(1) 2v

If proton and a-particle have the same de Broglie

wavelength, the quantity same for both of them is
(1) Charge

(2) Energy

(3) Speed

(4) Momentum

Which of the following quantities for a nucleus is
independent of its mass number?

(1) Density (2) Volume
(3) Radius (4) Mass

The ratio of maximum wavelength of Lyman and
Balmer series for hydrogen atom will be

5 1
() > @ 3
S 1
@ 2 @ 5

20.

21.

22.

23.

24.

As Ulde] abgsAot 1.6 x 10719 J B, AR
tldell AWl 6400 A R0l Ustatel
Usl@d sratdl WA &R GRldl §lal
8Asotoll HedH oUAGH ...

WAYNLS h=6.4x 1034 s)

8. (WdloSoll

1
2
3
4

14 x 107° J
28x107"9J
1.4 %1079

(
(
(
(4) 1.4 x 100 eV

)
)
)
)

L ool GAxSs R YRlddl ASs Uslal
Gtol sluHl Wl »sUl sAsAel BsU v

. %l GAYS AW %,seqml A Al

Gl WA »sUl sAsRotoll BsU ..... U,
14

(1) 2v @ 3

(3) <2v (4) >2v

B Uldlol Ual  a-50l UMl €-6llodl

ARG S Al id HRZ UHet & Adl
(1) [Qgdeu? 2) Gt
(3) »sU (4) AoHlet

JEAUU 112 58 AR Aotl eqisedl etcdxt B2
(1) ®otcll
(3) B
SOt URHIQ, M2 Aoll AlsHat ol GllHR

Aelloll s dRolcoUsBMA dRlHR

AL

©Ol=a W=
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25.

26.

27.

28.

20.

Rutherford’s atomic model explained

(1) Stability of atoms

(2) Origin of spectra

(3) The positively charged central core for an atom
(4) Concepts of stationary orbits

A counting rate observed from a radioactive source
att=0swas 1600 count/s and at { = 8 s it was 100
count/s. The counting rate observed, as count/s at
t=4 s will be

(1) 400
(2) 300
(3) 200
(4) 150
If 92U238 emits 8a-particles and 6B-particles, then

atomic number of resulting nucleus is

(4) 92

The binding energy per nucleon is maximum in the
case of

(1) 2He

(2) zFe

(3) 56Ba

) U

Unit of radioactivity is Rutherford. Its value is
(1) 3.7 x 100 disintegration/s

(2) 3.7 x 10° disintegration/s

(3) 1.0 x 10 disintegration/s
(4) 1.0 x 10° disintegration/s

25.

26.

27.

28.

20.

U] UM HI3A ... UHMA D,

(1) URMIRe] eufleet

(2) aelued Geon

(3) URMIY MR uol (AgceuRd Htarel 82
(4) @l satlel vaud

As A Al Al t=0s A uHA
(Qelosol £2 1600 5IGoR/ASS Wal t=8 A, UHA
A 100 51Ge2/A%0S Wal t=4 ASeS AHA olltllcll
Qelxsat €3 ... sl
1) 400
2) 300
3) 200

(
(
(
(4) 150

Bl U™ W 80501 Wal 6p-501 BT V. dl

..... RUE

URRUHL st URHIR] sHS

(1) 76
) 82
3) 72
(4) 92

Bl RJQulet €ls vitialBd

(3) 5 Ba

(4) & U

A3 AR A AsH RUKS B, Aof YA ...
(1) 3.7 x 10" (Aeiyst/A.

(2) 3.7 x 108 [Aelet/A

(3) 1.0 x 10" (Qeixsat/A

(4) 1.0 x 108 (Qelat/A
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30.

31.

32.

33.

In the circuit given below, the value of current in

100 Q resistor is

g 100 Q
= v'—[>;—www—¢ v
(1) 5mA
(2) 50 mA
(3) 2mA
(4) 6.2mA

Let n, and ne. be the numbers of holes and
conduction electrons (per unit volume) in an

intrinsic semiconductor
(1) np>ne
(3) np=ne

We are given four entries for the truth table of two
point input AND gate. Choose the option with

correct entries.

A
B’___: X

A B 14
i 1 0 0
i |1 0 1
T 1 1
iv.| 0 1 1
(1) i, i 2) i, iii
3) i, iv 4) i, iii

The width of depletion region in a p - n junction
diode is 400 nm and an intense electric field of
8 x 106 V m"is also found to exist in it. The height

of potential barrier is
(1) 3.2V (2) 25V

(3) 16V (4) 4V

30. olA e uRuunl

31.

32.

33.

100 Q WAAUHA

Ycllde] YA ..... D.

P 100 Q
+4 Vo—i F—W—- 1 v
(1) 5mA
(2) 50 mA
(3) 2mA
(4) 6.2mA

R 3 WS WA A alssHl n, W n, W A

UA cdles BAsRte{l (RAsH 5E €ls) vl dlaL

UL A golye Al AND ol gel
SUAHT AR HURARA ol AU B, Rl
IRl ol wrie s

A
B°—: ¥
Y

A B
i. 1 0 0
ii 1 0 1
ii. 1 1 1
iv. 0 1 1
(1) i, ii (2) i, iii
(3) i,iv (4) i, iii

WS p-nAsAot SLRASHL S2Aaet xctRe{l isLe

400 nm ol AHL Yoo [Qgd @t 8 x 109V m-!

B. WelAaud ARuA Gus ... alaL.
(1) 3.2V (2) 25V
(3) 16V (4) 4V
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34. In an n-p-n transistor, the collector current is 34, As n-p-n ;L@%&QHL sAse? Yells 20 mA D,

20 mA, if 80% of the electrons emitted reach the
collector, the emitter current will be

| 80% BUFd 8AsRA sAs2R Yl USA A

(1) 10 mA (2) 25 mA AMeR Yyals ... 2a\.

(1) 10 mA (2) 25 mA
(3) 2mA (4) 12 mA

(3) 2mA (4) 12 mA

35.  Which represents the NOR gate? )
35. %3] NOROle e2ld & ?

at
it

SECTION-B

SECTION-B
36. WseslaR uRuanidll ur (a®d) Dpe

36. The electrical circuit used t t th DC output
© 9et SMoott = "Rl aGeye Adeal M2 duAQA uBud ...

from a rectifier circuit is called
33 AauL .

(1) Oscillator (2) Filter
(3) Amplifier (4) Logic gates (1) EAA22 (2) Beer
37. If a full wave rectifier circuit is operating in 60 Hz (3) ALTASLRAR (4) ARs e
mains, the fundamental frequency in the ripple will 37 As li\QIdQOL §&a3l?i2 UBULL 60 Hz Aol U2
be
(1) 60 Hz 5202 B HOAl dRaMl Haed QALCLQ .....
(2) 30Hz &Q.
(3) 120 Hz (1) 60 Hz
(2) 30 Hz
(4) 70.7 Hz (3) 120 Hz
38. A p-n-p transistor having AC current gain of 40 is (4) 70.7 Hz

used to make an amplifier of voltage gain of 8, what 38. AC Ucls 8ol 40 HQLC{d As p-n-p ;L@%&?

will be the power gain of the amplifier? .
ARGl 8 HRAclq WACTUSAR slotlcldll

(1) 400
2) 320 AURAA B. ATASLAUIA ULleR Aol 9 U
(1) 400
(3) 250
(2) 320
(4) 100 @) 250
(4) 100
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39.

40.

41.

The contribution in the total current flowing through

a semiconductor due to electrons and holes are %
and % respectively. If the drift velocity of electrons

is g times that of holes at this temperature, then

the ratio of concentration of electrons and holes is

(1)

N =

In YDSE, a thin mica sheet of thickness 2 x 10° m
and refractive index (u= 1.5) is introduced in the
path of the light from upper slit as shown in figure.
The wavelength of the wave used is 5000 A. The
central bright maxima will shift

S, |

3

Screen

S,

ARARRARRRRR RN

[< D

1) 2 fringes upward

2) 2 fringes downward

3) 10 fringes upward

(
(
(
(4

)
)
)
) 10 fringes downward

In a single slit diffraction experiment, first minimum
for A1 = 660 nm coincides with first maxima for

wavelength A2. Calculate A2.
(1) 220 nm
(2) 330 nm
(3) 440 nm
(4) 560 nm

39.

40.

41.

wdatesHiell UAR Udl YalsHi 8AsSet al

Slctall Lol BofsA % U % D. %l 8As2atall

3

glsedol 8ld  s2cll > ol SlA (Mot

AluHlal) Al 8As2el v Slcdell Ustclloll

SJENESE alA.

(1)

wlor N =

(3)

dolall A RARal yAWML dugladi el
Yool GURell cfleniell el ystatetl 1ol
2 x 10 m ASl8al A cldelcatis (u= 1.5)
Rl Wl wesoll dsdl etmad sauui

UA B, GUALHL AcHl MAA dRAANLE

5000 A ®. Hrael ysiAld ...... (@Qse) wWA.

s, 8 Z
L~

-~ Screen
___________________ 2
L~
L~
5 7
[< D [

(1) A Acsl GUR RS
2) A actst o{lA s
(3) 10 ACUSL GUR RS
4) 10 acust oA dRs

As A2 gL [Qadet Yol 11 = 660 nm HI2
YUH oty A 1 dRJEOUE HIEE YUH
HoTlH UR AUl AU 8. 22 dWR0.

(1) 220 nm
(2) 330 nm
(3) 440 nm
(4) 560 nm
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42.

43.

44.

45.

How many images are formed by the lens shown; if

an object is kept on its axis?

1

(1) 1
(2)
(3)
(4)

3

w AN

4

An object is placed at a distance of 20 cm from a
concave mirror and its real image is formed at a
distance of 20 cm from the mirror. The focal length

of the mirror is

Two thin lenses one of focal length 60 cm and other
of focal length —20 cm are put in contact. The

combined focal length is

1) —15cm

2) 40 cm

(1)
(2)
(3) 30cm
(4)

4) =30 cm

If the wavelength of first line of Balmer series of
hydrogen atom is 6561 A, the wavelength of the

second line of the series should be

1) 13122 A

2) 3280 A

(1)
(2)
(3) 4860 A
(4)

4) 2187 A

42.

43.

44.

45.

Bl ol el UR YscllHl A dl Aol §lRL
gectl ylAllol u?

As cdrdal As Bcdln el 20 em B
AucHl AUAA B Al Aoj clrelAs ylAllol
URUEN 20 cm AR A B, w3l

Soacolld

(1) 10cm
(2) 20 cm
(3) 40cm
(4) 5cm

ScacollsA 60 cm Wal —20 cm HURlAAl A
Ul Aodal dUSHL AMcHl A|AA .

AYS Joacoll® ... D.

(1) -15cm
(2) 40cm
(3) 30cm
(4) =30 cm

Bl sleglayel UMl ol el yan
ol dRatds 6561 A Sl L el ([l

el dRatcols REIEAGENS

13122 A
3280 A
4860 A
2187 A

(1)
(2)
(3)
(4)
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46.

47.

48.

49.

50.

The ground state energy of hydrogen atom is
—13.6 eV. The potential energy of electron in first

excited state will be
—27.2 eV

-13.6 eV

—-6.8 eV

-3.4 eV

The ratio of molecular mass of two radioactive

substances is g and the ratio of their decay

constant is % Then the ratio of their initial activities

per mole will be

4
(2) 3

9
“4) 5

Number of neutrons in C'? and C'* are respectively
(1) 8and 6
(2) 6and 8
(3) 6and 6
(4) 8and 8

A radio transmitter radiates 1 kW power at
wavelength of 198.6 m. How many photons does it

emit per second?
(1) 101
(2) 10%
(3) 10
(4) 10%

In a photoelectric experiment, if both frequency and
number of incident photons are doubled, then the

saturation photoelectric current
(1) Is doubled (2) Is halved

(3) Remains constant  (4) Becomes four times

46.

47.

48.

49.

50.

SLBQLset URHIRle(l YRARAAUL A\l -13.6 eV

B, yaH GARA  wckkaMl  8Aseetoll
RAQGA ... 22\.

(1) —27.2 eV

(2) —13.6 eV

(3) —6.8 eV

(4) 3.4 eV

A A0 A2l gclloll wiecla ololl dfRllt?
g D A AMotl eARAASA LBl %.é.
Al Weels adell yRlels Als2cldlell opeldR

........ 29\
4
(1) 2 (2) 3
8 9
3) r (4)5

(1) 8o 6
(2) 63l 8
(3) 6al 6
(4) 8ual 8
As ASA gouMer 1 kw wWeaRrkdl 198.6 m
ARJLAGUYAl ARNo] BRFol 52 B, € ASD

A 32l glelol Gl%al B2

(1) 101
(2) 10
(3) 10%
(4) 10%
sRlBAsEls YA, ¥ vglQ  ua
BULASRlotol(l vl oinl MR SRAHL

Al Adqut SlalsAsgls yals

(1) ol awA (2) wsU UL

(3) WAN W B. (4) AR LN A
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[CHEMISTRY]

51.

52.

53.

54.

55.

SECTION-A

Select the saline hydride among the following
(1) NaH

(2) CH4

(3) NHs

(4) LaH2e7

Peroxodisulphuric acid on hydrolysis yields
(1) Ha(9)

(2) H202

(3) SOs

(4) SO2

Percentage strength of 56 volume solution of

hydrogen peroxide is
(1) 17%
2) 1.7%
(3) 34%
(4) 3.4%

Which among the following has highest melting

point?

Which among the following oxide of nitrogen is
most acidic?

(1) N2O
(2) NO2
(3) N20s
(4) N20s

51.

52.

53.

54.

55.

56.

SECTION-A

AR U8l atdlal stsgles wellel.
1

pd

) NaH
2) CH
3) NH
4) LaH2s7

@)

N

pd

w

(
(
(
(

WARASLABCRY(Rs AR sell waldeuxsst o
HAl oflue seudl.

(1) Ha(g)
(2) H20:
(3) SOs
(4) SO2

56 $€ SlEQlael WASUBSell alclle(l estausl
Yol sl

(1) 17%
2) 1.7%
(3) 34%
(4) 3.4%
e Usl Aell ay olcaide uvadd e
sRUl?

(1) B
(2) Al
(3) Ga
(4) In

UAA USl olexotall Al ay JARSs
USUYS?

HNO, ARSs alable(l Qualsel uBaul s
o{lus Hadl «1ell?

(1) HNOs
(3) NO

(2) NO2
(4) H20
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56.

57.

58.

59.

60.

61.

Acidic solution of HNO2 on disproportionation

reaction does not give
(1) HNOs (2) NO2
(3) NO (4) H0
Which among the following is of brown colour?
(1) Zn(OH)2(s) (2) Fe203-xH20(s)
(3) [Cu(NHs)4]*"(aq) (4) [Ag(NHs)]Cl(aq)

The pair of nitrogen oxides, formed on reactions of
copper with dilute and concentrated HNO3 are

respectively.
(1) NO and N203 (2) NO and NO2
(3) N20s3 and N20s (4) N20 and NO2

Number of ‘P-H’ bond(s) in hypophosphorous acid

Incorrect products of the given reactions is of

(1) 2Ag + PCls — 2AgCl + PCls

(2) Sn + 2PCls — SnCls + 2PCls

(8) CH3COOH + PCls —» CHsCOCI + POCls + HCI
(4) P4+ 8S02Cl2 — 4PCl3 + 2S2Cl2 + 4S02 + 402

Select the incorrect match of the properties of
different allotropes of phosphorus

(1) White phosphorus Translucent white

waxy soild

(2) Red phosphorus Possesses iron grey

lustre

(3) Black phosphorus Its a-form does not

oxidise in air

(4) White phosphorus Insoluble in both
water and carbon

disulphide

57.

58.

59.

60.

61.

A Usl 53 s2a8 01 UAA B?

1) Zn(OH)a(s)

2) Fe203-xH20(s)

3) [Cu(NHs):]**(aq)
4) [Ag(NHs)2]Cl(aq)

~ o~ o~ o~

SIURe(l UofsA HE ol Als HNOs U yls2l
sl HOAl olBxotoll BsASSL HlS
el

(1) NO and N203
(3) N203 and N20s

(2) NO and NO2
(4) N20 and NO2

SLRANSIRsRU ARSHL 812 P-H olus(l vl
UL Cl.
(1) Yot
(3) 1
U ysard Usl Aul Hadl o{lussl w0
® ?

(1) 2Ag + PCls — 2AgCl + PCls

(2) Sn + 2PCls — SnCls + 2PCl3

(3) CH3COOH + PCls — CH3COCI + POCI3 + HCI
(4) Ps+ 8S02Cl2 — 4PCl3 + 2S2Cl2 + 4S02 + 402

SR&RUU (AU wuRW U s ot
Yol o2l 2

() u¥e st © wrenll uye ot B

Yol

RUUALSL Al2lel Bl WSR2
SEI

(2) cuet Slasu e

(3) sl §lrsU © Ao] a3 U ScUM

(A2t WHd otell.

YRl wal stolet
SLAUCHLSS GlAHL Walcd
AU V.

4) W¥e Qs
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62.

63.

64.

65.

66.

67.

Which compound can be used to control the chain
length of silicone polymer?

(1) (CHs)2SiCl
(2) (CHs)sSiCl
(3) (CHs)SiCls
(4) (C2Hs)SiCl2

Hydrolysis reaction of which of the following
compounds involves disproportionation of any

element?
(1) CIF
(2) XeFs
(3) XeF4
(4) ICls

When excess of ammonia reacts with Clo, the
products formed are

(1) N2and NCls

(2) N2 and NH4CI

(3) N2and HCI

(4) NCls and NH4CI

Correct chemical formula of Malachite ore is
(1) Cu20

(2) CuFeS:2

(38) CuCOs-Cu(OH)2

(4) Cuz2S

Which among the following can be used as froth
stabilisers?
(1) Pine oils
(3) Aniline

(2) Fatty acids
(4) Xanthates

Blister appearance of copper is due to evolution of
(1) CO2(9)
(2) SO2(g)
(3) CO(9)
(4) SOs(9)

62.

63.

64.

65.

66.

67.

RASIt WellHRedl guictioll dos [RURd 53
dAxat 531 A% B2

1) (CHs)2SiCl2

2) (CHs)sSiCl

3) (CHs)SiCls

4) (C2Hs)2SiCl2

A US| sl A0oto] s Aetxet 818 del
HER (Qulsel ylsau eald 2

1) CIF
2) XeFs
3) XeF4
4) ICls

Clz, ol af Uscl ARl A& ylsal sauel
HAL o{lues xeudl.

o~ o~~~

(1)
(2)
(3)
(4)

(1) N2 %l NCl3
(2) Nz el NH4CI
(3) N2 el HCI
(4) NCl3 24al NH4CI

NAsIBe 5ol 201020 AUURS Y2t el

(1) Cu20

(2) CuFeS:

(3) CuCOs3-Cu(OH):
(4) Cuz2S

slot eellsel dil} sl aes cusl asla 82
(1) Weel A8

) 3@ ARs

(3) WLclot

(4) Do

SLURHL SlCCll Bl 2ulldd ... ol Geelcal cl

aal ®.
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68.

69.

70.

71.

72.

73.

Liquation is used for refining of

(1) Ag (2) Sn

(3) Fe (4) Si

Select the reaction which does not involve
roasting.

(1) 2ZnS + 302 —> 2Zn0 + 2802
(2) 2PbS + 302 —> 2PbO + 2S02
(3) 2Cu2S + 302 —> 2Cu20 + 2S02
(4) ZnCO3(s) — ZnO(s) + CO2(g)

Among the following, which step is not involved

during metallurgy of Ag and Au with NaCN(aq)?
(1) Oxidation

(2) Displacement

(3) Disproportionation

(4) Complexation

Which among the following is absent in impurities
obtained as anode mud during electrorefining of

Copper?
(1) Ag
(2) Pt
(3) Zn
(4) Au

In Hall-Heroult process of extraction of aluminium,
products of electrode reactions are

(1) Al, SO2
(2) Al, CO or CO2
(3) Al HF

(4) Al F2
van Arkel method is used for refining for

(1) Tiand Ni
(2) Tiand Fe
(3) Tiand Zr
(4) Znand Zr

68.

69.

70.

71.

72.

73.

56 tldell YdlsW MR yauglsel ugl

aAuRld .
(1) Ag (2) Sn
(3) Fe (4) Si

A U8l 58 Ylbaml ejaet ad stell

1
2
3
4

2ZnS + 302 —> 2Zn0 + 2S0:
2PbS + 302 —— 2Pb0O + 2S0:2
2Cu2S + 302 —— 2Cu20 + 2S02
ZnCOs(s) —— ZnO(s) + CO2(g)

Ag ¥al Au oll NaCN(ag) & tldsd(aelu
AU UGl s dotssl A ol 2

(1) WEA32Let

(2) (Qreuust

(1)
(2)
(3)
(4)

(3) [Quls:wel

(4) sl Axla

SlURetl [Agasla gdlseml Aells Us o33
Al HYGIHT A US| 58 wgl ARe&LNR
sl B2

(1) Ag

) Pt

(3) Zn

(4) Au

ARARUUAl sl URel dad-3AGe
Ug(Aui @Qggaya uR Hadl oluxl weudl.

1) Al, SOz
2) Al, CO or CO2
3) Al, HF

(
(
(
(4) Al F2

)
)
)
)

clot A ugld oll YAl HIZ AR B,

(1) Ti Aol Ni
(2) Tiua Fe
(3) Tiwa Zr

(4) Zn ¥R Zr
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74.

75.

76.

77.

Select the reaction which mainly takes place in
highest temperature zone in blast furnace during

metallurgy of iron

(1) 3Fe203+ CO —— 2Fe304 + CO2
(2) FesOs+4CO — 3Fe +4CO2
(3) FEO+C—>Fe+ CO

(4) CaO + SiO2 — CaSiOs

Select the correct the

statement(s) among

following.

a. Copper is extracted by hydrometallurgy from

low grade ores.

b. Zone refining is based on the principle

according to which impurities are more soluble

in melt than in the solid state of metal.

c. Castironis made by melting pig iron with scrap

iron and coke using hot air blast.

d. Depressant NaCN, selectively prevents ZnS
from coming to froth while allows PbS to come
with the froth.

(1) Onlya, b

(2) Onlyb, c

(3) Onlya,bandd
(4) a,b,candd

Among the following, which is not a common

component of photochemical smog?
(1) Ozone

(2) PAN

(3) Acrolein

(4) SO2

Maximum prescribed concentration of aluminimum

in drinking water is

(1) 2 ppm (2) 0.2 ppm

(3) 500 pm (4) 5000 ppm

74.

75.

76.

77.

clceglul wElotell uidgsQul eMauet el
Gl cluMlel YRledl [@Qewol v 58
ylbal A B 2

3Fe203 + CO —— 2Fe304 + CO2
FesO4 + 4CO —— 3Fe + 4CO2

3) FeEO+C—Fe+CO

4) CaO + SiO2 —» CaSiOs

U Sl 200 [@Qutet Ul
a. oRl  opaladianell  uarsHidll A
didsQR o’ suR Blsfd 53l asla 8.

b. (Qewdlla gdlsm Rsict B 3 wYdlell
oLl geauul alcatetl tld sl dy Sl B.

1

(1)
(2)
(3)
(4)

C. GRcR Aol WA Aisell edoUR al sloioto]
oRU sdl dd [oldtet 3ol sy Awis
HoclaHl wWa 8.

d. weds NaCN ad (ARl A znS of Slawi
Uleld w2k B AR PbS Slatdl w1 B,

HA a, b
(2) WA b, ¢
)
(4) a,b,c¥al d

AU UE s des  ysla
B Yol AU ues otel?

H2L a, b wal d

AAAQ S

(1) ¥t
(2) PAN
(3) As\(Ast
(4) SOz
Waott weldl AcyRAadell Hedd diadl
gecll &l AsA

1
2
3
4

2 ppm
0.2 ppm
500 pm

(
(
(
(4) 5000 ppm

)
)
)
)
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78.

79.

80.

81.

82.

83.

Which pollutant causes 'blue baby' syndrome?
(1) Lead (2) Nitrate
(3) Fluoride (4) Cadmium
Tincture of iodine which is used as antiseptic, is
(1) 2-3% solution of iodine in CHCIs

(2) 2-3%

mixture

solution of iodine in alcohol-water
(3) 20-30% solution of iodine is CHCls3

(4) 40-60% solution of iodine in alcohol —

benzene mixture
Which among the following statement is correct?

(1) Butylated hydroxy anisole (BHA) is one of the

most familiar antioxidants
(2) BHT cannot be used as an antioxidant
(3) SO2 cannot be used as an antioxidant

(4) Antioxidants are less reactive towards oxygen

than the food material which they are

protecting
Bactericidal antibiotics among the following is
(1) Ofloxacin (2) Tetracycline
(3) Erythromycin (4) Chloramphenicol
Example of natural polymer among the following is
(1) Starch
(2) Polythene
(3) Rayon
(4) Cellulose nitrate
Monomer units present in polymer Nylon-6,6 are
(1) Hexamethylenediamine and Terephthalic acid
(2) Hexamethylenediamine and amino caproic
acid
(3) Hexamethylenediamine and adipic acid

(4) Hexamethylenediamine and Ethylene glycol

78.

79.

80.

81.

82.

83.

sal ygusa Al 'ogf Aol RoglH aa ®2
(1) as (2) ollege
(3) SARIBS (4) 3sllan

BsuR wlslet ageiall ¢33 dauva d ¥
(1) WA Sloto] CHCIs Ui 2-3% slall .

(2) U Se-uRlHl w0 Sloto] 2-3% alael B.
(3) CHCls Hi 20 Sleto] 20-30% slall B.

(4) WS A Aot MAsRMl WA S\ote] 40-60%
Al .

WA US| 202 [Qulet BULAl.?

(1) ofels@zs  sleEA  ARANA
Y@ ARuEAS2 B.

(2) BHT ARRAGAS2 d3F ctudl asta «i(3.
(3) SOz ARAMBEASee AZF ctul astdl «tell.

(4) AAUEASE ¥ uvllal Ueld el s Aol
5cll AUEAel YA w8l Al S D.

(BHA) uul

U UB As2Raeliats ulQcl waudl.

(1) Ofloxacin
(3) Erythromycin

AU U8l gedl WAHR eudl.
(2) ARt
(4) ARAR allsge

(2) Tetracycline
(4) Chloramphenicol

(1) R
(3) Rt
AlACA1-6,6 WAHML %R HlollHR AsH
sl

(1) s MA Aot stARAHUEt U 2AASs ARLS

2) dsHMActat slpAAHGe U WM WS
AR

(3) dsMAcllot SRS U ASIAs AR

4) s MU cllot A @At
aALRAS A

SIRAAHL Yol
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84.

85.

86.

87.

88.

Polymer generally used in making oil seals,
gaskets and for non-stick surface coated utensils
is

(1) Acrilan (2) Teflon
(3) Terylene (4) Cellulose

Select the polymer which does not involve HCHO

as one of the monomer unit.

(1) Novolac

(2) Bakelite

(3) Glyptal

(4) Melamine-formaldehyde polymer
SECTION-B

Which among the following is incorrect match of

property/use of polymer?

(1) Low density polythene : Poor conductor of

electricity

(2) High density polythene : Linear polymer with
high density

(3) Synthetic rubber : Only homopolymers

(4) PHBV polymer Can undergo bacterial

degradation in the environment
Glucose is a/an
(1) Aldotriose
(2) Ketotriose
(3) Aldohexose
(4) Ketohexose

When glucose is reacted with bromine water it

gives

(1) Adipic acid
(2) n-Hexane
(3) Gluconic acid

(4) Saccharic acid

84.

85.

86.

87.

88.

sl W(AHRA GU0L AlMLe A AUsA e,
oUREe Aol olloREls AUl Ul cllrelall
olollaMl Ul B?

(1) AsQet (2) 2%t

3) 2Rt (4) ARAR

UAA U8l sal WAHRe olottaleHi HollHR
d3l¥ HCHO auRlAl otell?

(1) oldlas

(2) A3cse

(3) LAedt

(4) AAHBet Seslslss WAHR
SECTION-B
AU Ul s ojet] / Gualal WAHR wd
Yol atell?
(1) oAl eotctg)sd WALt : [Agall He cuss ®.

2) Ol ustclysd WAt : QA dotdl YAl
ufla AR

(3) ULLARA UR : g5 AHANAHR D.

(4) PHBV W(AHR : valaReui aseRa dd [@Qeest
u{l a3 ®.

(1) BUcslgl0

2) slalatAs

(3) BUCESUS

(4) $lAl&s0%

dslell et s WA Y ad uadl
ollus.

(1) ABUs ARs

(2) n-85Bet

(3) dsllals AR

4) As3Rs ARs
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89. Monosaccharide units present in Maltose are 89. MMM 512 HAASHABS AsH wUA.
(1) a-D-Glucose and a-D-Galactose (1) a-D-343l U o-D-DASA%
(2) a-D-Glucose and a-D-Glucose (2) 0-D-0451% A 0-D-245Ls
(3) a-D-Glucose and B-D-Fructose (3) 0-D-2481% B-D-‘g&a:)’)
(4) a-D-Glucose and a-D-Fructose (4) 0-D-048\% a-D-§&a3’>
90. Select the incorrect statement about amylopectin
yiop 90. AWHRAAU(R U2 A2AR1 (Aot LU
(1) ltis insoluble in water )
(1) A el Aatca sl B.
(2) It constitutes about 80-85% of starch
(2) A 80-85% 21 uRAA V.
(3) Itis alinear chain polymer of B-D-glucose units _ ‘
(3) A B-D-o¢slos AsHiell olact vl JueiHay
(4) Polymeric chain is formed by C1-C4 glycosidic
. WAHR .
linkage
. . . o 4) A C1-C4 actlas\RSls oiuell uad WAHRS
91. Essential amino acid among the following is
YUl B.
(1) Glycine (2) Alanine
. , 91. A USl wlas AR AR weudl.
(3) Lysine (4) Serine
92. Which among the following is a pair of fibrous (1) et (2) AQellot
proteins? (3) AR (4) A3lat
(1) Keratin and Insulin 92. AU USl 2 Wdlotoll ls wrudl.?
(2) Albumins and Insulin (1) ¥A3let u 6&?&@#
(3) Keratin and Myosin @) bucoqdlot U &5o-zqc«[lot
(4) Myosin and Insulin (3) 3ot 1A MR
93. Deficiency of which water soluble vitamin causes
Y (4) HRARG AR Borfcllot
convulsion?
. 93. sal ulll atca (Qatllotoll Goru ad wiusl
(1) Vitamin Bs
L wojeclld B?
(2) Vitamin B12
(3) Vitamin A (1) (Qa{let Bs 2) [@Qewllet B1z
(4) Vitamin D (3) (Qeu{lot A ) @ewllt D
94. During denaturation of proteins 94. Ulstell [a§[a8?Ql et ... A B
a. Hydrogens bonds disturbed a. &lBglet i ARl .
b. Proteins loses its biological activity b. Wdlot Aol FAs ABaA opHIA B.
c. 1° structure remains intact c. 1° 6lellRRL ¥nals S .
d. More coiling of helix occurred d. AU BsR ay Qj;ucuu .
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95.

96.

97.

98.

99.

100.

Correct statements are

(1) Onlyaandb

(2) Onlybandc

(3) Onlycandd

(4) a,bandc

Select the correct statement among the following.
(1) Vitamin E is water soluble

(2) Glycine cannot form zwitter ion

(3) Most naturally occurring amino acids have
L-configuration

(4) Insulin contains 510 amino acids

When Cl2 reacts with cold and dil. NaOH, it gives

(1) NaCl and NaOCI

(2) NaOCl and CIO2

(3) NaOCI and NaClOs

(4) NaClO2 and NaClOs3

Shape of XeF4 molecule is

(1) Linear (2) Square pyramidal

(3) Square planar (4) Bent-T-shape

Catalyst used in Deacon'’s process for manufacture

of chlorine is

(1) ZnSO4 (2) CuCl2

(3) NaCl (4) Pt

Which among the following oxoacids is most acidic
in nature?

(1) HCIO (2) HCIO2

(3) HCIOs (4) HCIO4

Which among the following has the highest boiling
point?

(1) He (2) Ne

(3) Kr (4) Xe

95.

96.

97.

98.

99.

100.

202 (Qttat seuLCl.

(1) HItaBal b

(2) HIA bual ¢

(3) HIo cua d

(4) a,b¥a ¢

U Sl 200 [@Qutet Ul

(1) @aldet E welui ac sl .

(2) ARt 3R et catlcll AslAl otedl.

(3) Wel el gedl AMA ARS L-[QAoun
YA 0.

(4) 8@t 510 AR ARS UAA B.

Clz o{l 651 Aal HE NaOH U Ylsau a3 Hadl

o(luxl eseudl.

(1) NaCl #al NaOCl (2) NaOCI #al CIOz

(3) NaOCI #al NaClOs (4) NaClO: el NaClOs

XeFs AURoll AUls1R wellcl,

(1) udlat

(3) uHccla ARA

(2) ARA Qs
(4) dOA T-uSR

sAlRoto{l vlottae HIzo{l Slset ulsauni aurldl
Gelus oseul.

(1) ZnSO4 (2) CuCl
(3) NaCl (4) Pt

AU Ul s sAARS wend Al ay
AR da B?

(1) HCIO (2) HCIO:
(3) HCIO3 (4) HCIO4

AU Ul Aell ay Gescotloly uRvaAl et
gRULA?

(2) Ne
(4) Xe
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101.

102.

103.

104.

[BOTANY]

SECTION-A

In which biome, mean annual precipitation is
maximum?

(1) Grassland

(2) Tropical forest

(3) Temperate forest

(4) Coniferous forest

The relevant

environmental factor in the ecosystem is

most important ecologically

(1) Temperature

(2) Water

(3) Light

(4) Soil

Birds and mammals are

(1) Conformers

(2) Conformers and regulators respectively
(3) Partial regulators

(4) Regulators

The bell-shaped population age pyramid
Represents young or growing population
number of pre-reproductive

Has small

individuals than post-reproductive individuals
Shows the population growth rate almost zero

Has fewer individuals in pre-reproductive

group and thus showing declined growth.

101.

102.

103.

104.

SECTION-A

sal B (AUl ARRNA Alls gRuLd
HETH B?

(1) qae®

(2) Gwus(oiu
(3) [dwlciet
(4) 2UgH dot

URRAQats] Aell uscals] uaicrella

uRaa ..... .

(1) cltuHLet ) wel
(3) uslat (4) ot
el Aal Wetal ... ®.

(1) AfojaldQ
(2) sHl: Wojcll2l Aol [Haumsl

(3) vialct: [Aaumsl

4) [Qaums

gelslk addl aa QpM®s

Yol Al audl audl eqda .

UHUYololeld sl Yl dveuni

ydyxelelai ud B,

el gf& €2 cdledl Yool s B Ag
galad 9.

ydyetotett AysHl yol ¥ Yl Al
URAA B w wel uesl gl eaiad .

(4)
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105.

106.

107.

108.

109.

the the

adaptive feature of the organism.

Select incorrect match regarding

(1) Kangaroorat — Can concentrate its urine

(2) Desert Lizard

Thick layer of fat below th
skin
(3) Xerophytes — Thick cuticle

Antifreeze solutes

(4) Antarctic fish

the

population density approaches the carrying

In  Verhulst-Pearl logistic growth when

capacity, the value dN/dt will be

(1) More than one

(2) Zero

(3) Equal to intrinsic rate of natural increase

(4) Just double to the population density at time,
t=0

Anthropogenic terrestrial ecosystem is
(1) Garden

(2) Aquarium

(3) Estuary

(4) Desert

Which of the following is not considered to be

primary consumer?
(1) An animal that feeds on producers

(2) The animal that convert plant matter into

animal matter
(3) The animal that feed on herbivores
(4) An animal that is called herbivore

Vertical distribution of different species occupying

different levels in forest ecosystem is called
(1) Speciation

(2) Trophic level distribution

(3) Forestation

(4) Stratification

105.

106.

107.

108.

109.

APl AUos@Ad deR Asjctellal vidl

BSs UdE s,
(1) siouzGez — A ool Aiacll arudl o3
(2) 20060 oAl — AHSA A u6lo] s
R
(3) 20l cotru@ ~ g sydlsc
4) RAa8dst — dly wd wesicll 2Avc
Hdl a2

deted gqdlil »aR addl ofaudl Aol
agotetal Yl USA R dN/dt of Hel

&9

(1) A5 8l AUR

(2) Yt

(3) UslAs ctlRloll UidRs €a UMLal

(4) t=0 AHA axdldll oy

........ 5EH A % [Adysidat B.

(1) w2 2) Hodler

(3) Aetlsteyull (4) Ral

UMl sl wals  GuelaldiAl

sRLeHl Alaldl o1efl?
(1) Wl 3 % vlAs M2 BAUlESl UR old B.

2) WA 3 % aotruld scaua yell scaui ¥24a
.

(3) el ¥ B vlRls U2 deustil uR «d .
(4) YAl ¥ B dqaustil sé .

Foleml (Al R ‘el QAR= s (Axllsil
Grde (A0l 88 9.

(1) Qs

(2) Gwus(oit AR [Adrel
(3) collszwl

(4) 3ls:0
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110.

111.

112.

113.

114.

The release of inorganic substances from organic
matter during the process of decomposition is
called

(1) Humification (2) Leaching

(3) Mineralisation (4) Fragmentation

What percent of energy of the incident solar

radiation sustains the entire living world?

(1) 2-10% (2) 1-5%
(3) 0.2-1% (4) About 50%
Synthesis of organic matter by using solar energy

is the process that
Follows first law of thermodynamics

Shows the conversion of heat energy into

chemical energy

Traps the energy in the form of photons in the

plants

Follows second law of thermodynamics

(4)

The pyramid of number in an ecosystem can be
A. Upright
B. Inverted

C. Spindle shaped

The correct one(s) is/are
(1) Only A (2) OnlyBand C
(3) Only Aand B (4) AlA,Band C

Select the incorrect statement regarding the

limitations of ecological pyramid.

(1)

It does not take into account the same species

that belongs to two or more trophic levels

Microbes and detrivores are given the highest

level in the ecological pyramid
It assumes a simple food chain

It does not accommodate a food web

110.

111.

112.

113.

114.

Questell ulsal e[auet sieilds acnuiadl

uslolls acll Ysd Ul Aal ..... 53 D.

(1) AoAlaus (2) el

(3) wellyswl (4) WAViSal

UL ARABGRRL (ISR) oll decl 2sl Gl
UL A AYRA 2sicl AN B2

(1) 2-10% 2) 1-5%

(3) 0.2-1% (4) 50% g2cll
.......... ylsal 3 ¥ YAGslal Gulol bRl
sloills acalo] AeAMEL 52 B,

(1) alstaa@setl yaur [ et

(2) GWIGlq] A2APs GsiMi FuUicRel eald B.
(3) cotruU(AAML §alot UL Gxlall Aols

4) alstaa@setl ollst Rams] west

(Rt ML Avulell LRARS 8y .
A.

B. Gctel

C. 2S8R

53 As U B ?
(1) WA A (2) HIA By C

(3) HIL Aual B (4) iUl A, Buial C
URRASA LA Halel @A vig @Qutet
ude s

(1) A AUl A 5l dy WMsAA U AciDld
dlat Adl Aot (A dfRidldl Aatdl
a2l

2) YerA ua  HYAuplAa [LRAAsHD
HulRellet WUA B,

(3) Aoltell As RN SR WAL UL B.

(4) AHL AUSRM A AHLAL AUA otell.
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115.

116.

117.

118.

In ecological succession, the changes lead finally
to a community that is in near equilibrium with the

environment and that is called a
(1) First biotic community

(2) Transitional community

(3) Climax community

(4) Pioneer community

Read the following statements and choose the

option which is true for them.

Statement-1: Primary succession starts at barren

area, never having vegetation of any type.

Statement-2: During succession, there is neither

change in species diversity nor in total biomass.
(1) Both the statements are correct
(2) Both the statements are incorrect
(3) Only statement-1 is correct

(4) Only statement-2 is correct
Robert Costanza and his

According to

colleagues, of various ecosystem services, soil

formation costs

(1) 6%

(2) 50%

(3) <10%

(4) 20%

River dolphin of India

(1) Is close relative to sharks

(2) Become extinct about 100 years ago
(3) Is the national aquatic animal

(4) Is also known as sea cow

115.

116.

117.

118.

URRAAS|A ojsHRIHL Ba2 A wedld
A ¥ Rl A valarewell AdLedL Adestil
¥ A 5 9.

(1) yauH FQAs Bl AH

(2) HEALA BAUHLY
(3) UM BAUMLY
(4) UlALoll BAUHIY

WAA ([Aelloll iAW WA Aol HZ AR
@Qscu ude s

Quitot-1: Ya@s ojsHel Goys (ArctiRHi
AW AA B F ¥ suRA ssuRl Usiell
clotiruld upnaddl otell,

Quist2:  wggsuRl el R
sA¥ACR ¥ A QLRUAML teaia wadl

atell.

(1) o Qe L .

) oid [Qulell vlel .

(3) L Q-1 AY B,

(4) 1oL Quiet-2 Y 8.

A 5loralos ol Aol ULERL AofAUR
QAaetcdatell Aol gat Budui ¢l

UUalle] YA ... B.
1) 6%

2) 50%

3) <10%

4) 20%

MRdo(l Rar S\elot

(1) adell ay ullwe dolu urd B.

(
(
(
(

(2) 100 oy UdCL Gt U o8 V.
(3) Al wclla yiell ®.

(4) elRaug ouat Mietal 2w B.
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119.

120.

121.

122.

Thousands of strains of rice in India is an example

of

(1) Ecological diversity
(2) Species diversity
(3) Community diversity
(4) Genetic diversity

Which amongst the following is the most species-

rich taxonomic group?
(1) Insecta

(2) Fungi

(3) Mammalia

(4) Angiosperms

Following pie chart shows proportionate number

of various eukaryotic organisms having cell wall.

X Angiosperms

Which of the following features is not true w.r.t

organisms ‘X' ?

(1) These are heterotrophic

(2) They form fruiting bodies

(3) Some of them can be parasite
(4) All of them are aquatic

Which of the following equations shows straight
line in the graph for species-area relationship?

Here-

S = Species richness; A = Area

Z = Regression coefficient; C = Y-intercept
(1) logS=Zlog C +log A

(2) sS=C*A

(3) logS=logC+Zlog A

(4) S=CA*?

119.

120.

121.

122.

MRAHL &1 Auwlell Al
D.

(1) WRRAQSa [@QQudt
2) sl (@

of GelsRM@L

(3) FadUHIYSs (Al
(4) ollolls (AlQuct
A ol s20 As vol % A @Al
ugA aollsea w3y B2

(1) $lesl

(3) Uiclot

2)
(4) ugdollruidl
AUAA AUAWHT stald uRladl [QAu
YS\Fodl AYClloj Avaul yuel eldd .

X Angiosperms

UMl sal cdael 'x A [@QA AL
sl 2

(1) Al [Quual .

(2) Q¥ seslae] [Alel 52 .

(3) Al 3ecs uAudl .

(4) Al ol scAElE D.

AR 53 A{ls0L AUA [QArcllR ol
HER AUAUHL RLRu gald B2

UG- s = A (Al Agcll;

A = [QRAR(A250)

Z = ulall BLOL (RLHISRAH dJlis);

C = Y-ulld®E

(1)
(2)
(3)
(4)

logS=Zlog C+log A
S=C*A
logS=1logC+Zlog A
S = CA*
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123. Presently least percent of which of the following 123. Qe YAl Hﬂ@H[‘c’ﬂ Slell wol % 2069
roups of organisms is facing the threat of
9roup ? ? 25l B B i Uclloll WA Aajeicll 8l
R,
(1) Geracll st
2) uelloll s
(3) oatlgd ollasutlodl (A

extinction?

(1) Amphibian species
(2) Bird species

(3) Gymnosperm species
(4) Mammal species

124. Which of the following species is not an alien (4) Hctel Al

species to India that causes decline or extinction | 124, wAAH 58 %A QT (A ol 3 ¥

of indigenous species? RS QA ueld D AUl Giddl A2
(1) Eichhornia RS
(2) Ficus (1) °&(ﬂ§@

(3) Parthenium (2) slaASU (aAS)

(4) Lantana
(3) dU¥UL

125. Which amongst the following are in-situ .
. . o (4) oludl
conservation strategies of biodiversity?

125. WAA Wil 58 wRaUlel  ARawldl
UglQl 82

A, celrufQGellal

A. Botanical gardens
B. National parks

C. Biosphere reserves

D. Zoological parks B. Al Gelletl
E. Wildlife sanctuaries C. FalaRel WR(Ad [l
(1) A BandD D. yellGausl
(2) AandC E. clelclol 1eAREN
(3) B.CandE (1) A,Band D
(4) B,DandE (2) Aand C
126. In order to control environmental pollution the (3) B,CandE
(4) B,DandE

government of India has passed the Environment

(Protection) Act in 126. WAlaRel Yguelell [aistel 12 elRd A8

HU ualarel dRel AU uuR

™) 1886 e
(2) 1992 sall.
(3) 2002 (1) 1986
(2) 1992
(4) 1972 (3) 2002
(4) 1972
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127.

128.

129.

130.

According to Central Pollution Control Board,

particulate size in diameter are

responsible for causing the greatest harm to

human health.

Select the correct option to fill in the blank.
(1) 5.0-8.0 mm

(2) 12-18 um

(3) 2.5 um orless

(4) Larger than 20 um

Which of the following is not an effect of

deforestation?

(1) Loss of biodiversity

(2) Soil erosion

(3) Disturbed hydrological cycle

(4) Reduced
atmosphere

CO2 concentration in  the

In 1987, important amendment to Air Act 1981
was made. Which of the following pollutants was

recognised as air pollutant in this amendment?
(1) DDT

(2) UV rays

(3) Noise

(4) Radioactive radiation

All of the following are advantages of CNG over
petrol or diesel, except

(1)

CNG is gaseous fuel but petrol and diesel are
not

CNG is cheaper than petrol or diesel

CNG burns more efficiently, unlike petrol or

diesel

CNG cannot be siphoned off like petrol or
diesel

127.

128.

129.

130.

Sodlad yedel [aistel ol wofAR
HBsMeR ¥ Aotlell UL cUle] 5€ Rl
sQReRUl ueledl Hioldaaa Al ay
al2lol USRAUS AL YAUHER B,

ARA (Aseu e 531 wiell o Y.

(1) 5.0-8.0 mm
(2) 12-18 um

(3) 2.5 um WAl Aol vt
(4) 20 um $Rcll Hlal
UAAHUL 58 WAR Ade{lsalell otl?

(1) BalQ@Qudl opHiacl

2) wHlots] Deuel

(3) ¥cUs woLdl ¥q

(4) dldleRRMl COz oll Uindll u2

sall YgdoL [Aarel ua GFaisel w@Aau-
198111 1987 Ml YUl s3I sclloll Ygus

A3y o{lRAetHil

sclH ulell B2
(1) DDT
(2) urRAswl (5200

ol  UHLA2L

(3) e

4) (el (3el
UAA ol ¥ A Aol SIBA sl Ay
CNG oll SlAERA ® Rl ¥

(1) CNG cllHal olldll 8 Ud Ul ucl
et o}

(2) CNG U2A wUall SIBA $cll A B.

(3) CNG U2 AUl SIBA $cll dYy EsolaiH
.

(4) CNG Hl2 Ut ual Slosctoll BH WHUALEeL
wudl astdl otell.
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131. Dobson unitis used to measure 131, Sloddol AsH ... oll HlUol HIZ GUAL( B.

(1) Amount of suspended particles in the air (1) satl dRcll s6lletl el

(2) Amount of particulate matter in the water @) el SQRCLgLﬂ UeLsiloll 2l

(3) Intensity of sound (3) waell dlad

(4) Thickness of ozone in the column of air (4) scllotl et Aotoll stsies

132. Which of the following activities is not associated 132, Wil 58 ‘;l[%all @HG@? W iRl
with Jhum cultivation?
aell?

(1) Cutting down the trees of forest
(1) dototl gjallel stucl

(2) Restoring the forest by planting trees of same .
2) udctl Holl vadl @Al GBR 53| doloj

Yot:@Aul0L

species which were found previously

(3) Burning of the plant remains
(3) cotrud AN UnoUCl sttutal

(4) Using of ash as fertiliser
(4) Al IR ¥ GuzlaL

133. Main cause of snow-blindness is . .
133. WRUSH dUclle] Hud sR0QL ..... D.
(1) Swelling of iris by heating effect of IR radiation
(1) IR (3200{l Gwofl R a2t sElAsley geig

(2) Inflammation of cornea by UV-B radiation

(2) UV-B (3200l g1t weds uecsll Wl
(3) Extreme low temperature
(3) Yol % Y AlUHlot
(4) Drying of fluid in the eyes
(4) Al yaudls Yslag
134. The phenomenon through  which  non-
134, tleall 3 Boll sl wUFAQudld ygusl

QlAHl A6l A B ol SR Yuictisll

biodegradable pollutants get accumulated in

tissues in increasing concentrations along the

food chain is called A Axell Algcdl audl =2 ®. Aal .53 D.
(1) Eutrophication (1) YUusdsWl

(2) Biomagnification (2) FalAaucetdl

(3) Biofortification (3) FAR&LUM Sl

(4) Assimilation (4) ulRulet

135. The only solution for the treatment of e-wastes is | 135. 8-5UAo{l gleNo2 HI2o] Ws HIS UHLLLot.....

(1) Open dumping Q.
(2) Incineration (1) yeeltHl ¥sal
(3) Recycling (2) uoUaAAd
(4) Burying (3) Yot:AsRL

4) eldltal
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SECTION-B

136. One of the harsh habitats where the organisms
live is

(1) Grassland (2) Torrential stream

(3) Temperate forest (4) Crop field

137. Assertion: Conformers had not evolved

mechanism like regulators.

Reason: Thermoregulation and osmoregulation
mechanisms are energetically expensive for

many organisms.

(1)

Both the statements are correct and reason is

the correct explanation of assertion

Both the statements are correct but reason is

not the correct explanation of assertion
Only assertion is the correct statement

Both assertion and reason are incorrect

statements

138. Match the following columns w.r.t. population

interaction and select the correct option.

Column-l Column-ll

Competition (i) One species is
benefitted and otheris
neither harmed not

benefitted

B. Protocooperation (ii) When two organisms

striving for the same

resource
C. Commensalism (iii) Interaction is
detrimental to one of
the interacting species
D. Predation (iv) Benefitted by each

other but can live
equally well without
association

SECTION-B

136. A5 $612 [AcldaUlel 3 oAl YA W V. A

(1) dee®
(3) AHERAWL %ol

[QAEat : W28, [Raumsl Bl (saladl
uRnetcl ol

(2) HWAOUR Yeus
(4) MR

137.

s dAlullauHsl wa wURA Raunsl
(sa@ell weu A 1R Gl afRA wain
®.

(1) ol [Quiell WA B Aal sRel A (AAEslo]

AR aelt B.

ol (Quiell WA B uel sRel A [AAEeis]
ALY adiet e,

U [(AAEat Y Qe B,
o [Aest ual sReL Wel Qulell 8.

138, clrc(lRAlell WidBA QA WAA Sleal
S Glotlcll.
LA SLAH-II
A aqul () Ag @A sl2A€l A

® uel ol el &
a152llol ad otell

B. Qlalgluatet (1 a2 oid A Ul
Bllcloll GULoL 52 V.

C. Yol (i) Qg As 2@ w2
widRslAL Ulds .
D. araa (V) ¢i@al stau€l uel ciad

Asolost ok ARl AA
acfl A% V.
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139.

140.

141.

142.

A B C D
(iv) (iii) (i)
(ii) (iv) (i)
(ii) (i) (i)
(iv) (i) (i)
Factors affecting primary productivity of an

ecosystem is/are

A
B.
C.
D.

Photosynthetic capacity of producers
Availability of nutrients
Diversity of primary consumers

Available solar radiation

(1) Aand B only
(3) A,CandD

(2) D only
(4) A,BandD

When 10 kcal energy has fallen on the green parts
of plant of a food chain shown below, what
amount of this energy would be converted into

biomass by the animal which is at T3 ?

Plant > T2 —»> T3 >Ta
(1) 0.9 cal
(3) 0.1 cal

(2) 9 cal
(4) 1 cal

All of the following belong to seral communities,

except
(1) Pteridophytes
(3) Herbs

(2) Lichens

(4) Submerged plants

Match the following columns and select the

correct option.

Column-l

(Extinct species)

A. Quagga

B. Steller's sea cow
C. Dodo

D. Thylacine

(
(
(
(

i)
if)
ii)

iv)

Column-ll

(Place from wher¢
they belong)

Mauritius
Australia
Africa

Russia

140.

141.

142.

(1) (v) (i) (i) (i)
(2) (i) (v) () (i)
() () () (i) (iv)
(4) (v) (i) (i) (i)

R [@Qadetdaell  ya@s
GAUlESALA AUR 5 D.

A. Geulesloll yslariauelell il

B. WRAsa{l Gucoudl

C. s Guelolddle(l @ ucl

D. AREGReN(l Gudstidl

(1) H2L Aol B
(3) A, C¥a D

(2) HA D

(4) A, Bl D

1A gafact R Juletoll astrudstt cllen
@O UR AR 10 keal Gl UL Ul ©.
R Gxloll d2cl w22l T; wWlet UR Wl
YLR(A LRl FaeURUL Jala & 2

AolRUA — T2 — Ts >Ts

(1) 0.9 33l 2) 933l
(3) 0.1 33l 4) 133l
WAA ol % sHS Al ® Reua d ...
(1) Bidll (2) AlE3el
(3) ™A (4) @Ho clotruldull

WAA SlAHRA K| A URA ([Ascu ure
3.

SIAM-I SlAH-I
(i Az (@ Ao elo
s A ¥l &cll)
A saiau 0 Qe
B 2e-dll-sic M a@au
C. aa () st
D gaaRet V) 2l
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A B C D A B C D
(1) (i) (i) (v) () (1) (i) (i) (v) ()
() (i) (@v) (i) () (2) (i) (v) (i) ()
@ @) O (i) (v By @0 @)
@ Gi) v 0 ) @m0

OUHL S o)
143. In the industries, which pollutant is removed by 143. GELIHL 54 UEHs 5ol GUALL sl §2

using scrubber? Al B?
(1) HS (1) HzS
(2) CO
(2) €O (3) CO2
(3) CO2 (4) SO2
(4) SO2 144. S1R§U US Wal slolotUs AR AS dslald A
144. One of the differences between phosphorus cycle B % 2l A gdyd dsadct o2l
and carbon cycle is that the former does not (1) clolrU QA g2l gnel
involve

(2) ®cid yellaui
(1) The absorption by plants
(3) ¥t GIRL ER
(2) Living animals
(4) secl ARl 2ellst 313 uissl
(3) The respiratory release
145, Auie N glRL scllMl WA dy Ad@Ad ual

dstiels A dAe el yrd d@s sla-
QAL Aol ... Becdl .

(4) Lithosphere as natural reservoir

145. Robert May, with his conservative and

scientifically sound estimate, placed the number

of global species diversity at about (1) 20 AAust
(1) 20 million 2) 3.7 (AQast
(2) 3.7 billon (3) 50 A2t
(3) 50 million 4) 7A@t
(4) 7 million

146. Al 53] As sl GwsBoitml vul
146. Which of the following is not the reason of rich °?C{[a[audtcj a2ll?

biodiversity in tropics? _
(1) A Actct ualaRel
(1) Less constant environment o
(2) §5l0) cllUMlot
(2) Warm temperature s34
3) dy Ay
(3) High humidity (3) 4y

4) WY wdsla ualarel
(4) Less seasonal environment (@) g 2d :
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147. Select the incorrect statement regarding the 147 @Qaddetdatell w2l B@As dxes uqaaﬂa

stable biological community of the ecosystem. . .
Wi (Aot urle s2A.
(1) It should not show too much variation in

oroductivity from year to year (1) o €2 avell Gaule sl dy ¥R el

(2) It must be resilient to occasional natural el
disturbance (2) Ydluld @AW AR RAAReUUS g .
(3) It should have least biodiversity (3) A WGl Fa@RudAl A B.

4) 1t t istant to invasi l
(4) It must be resistant to invasions by alien 4) (A2 ell (A g1t Ul vusHRL 12 YARAuUs

species

148. [Acotcdntoll vol % Gualalldteudl Aal ...
148. One of the broadly utilitarian services of

ecosystem is Q.

(1) Food (1) WIS

(2) Pollination (2) URdlelol

(3) Drugs (3) ecAl

(4) Firewood 4 )
(4) vadble] cisg
149. Amongst the following, secondary pollutant is

149, WA ol Bllas ygus ... .

(1) SOz
1
(2) CO (1) SO
(2) CO
(3) H2S (3) HaS
(4) Os (4) O3
150. Montreal Protocol was signed to control 150. weerreee. oll [2ioteL 12 HAgAA WASIA UR
(1) The amount of COz in the atmosphere SR SAHL AUl &dll.

(2) The release of harmful rays from radioactive (1) dlcllciRel COy oll w2l

power plants
2) (30l war  weedidl  [@sad
(3) The emission of gases that cause acid rain
ais2letsRs (301
(4) The emission of ozone depleting substances

(3) alyllej Gtel ¥ ¥ ARl YR .

(4) et telscll sellotl Gl
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151.

152.

153.

[ZOOLOGY]

SECTION-A

Match column | with column Il w.r.t. the restriction
sites in pBR322 present in antibiotic resistance
genes and choose the correct option.

Column-l| Column-li
a.l Sall (I) JAmpicillin resistance gene
b.| Pvul
c.| Pstl (IN|Tetracycline resistance gene
d.| BamH |

a b c d
)
(1)
)
M an

Apiculture is helpful in all of the following, except
(1) Producing beeswax

(2) Enhancing crop yield

(3) Increasing pollination of crops like rice,

wheat, etc.
(4) Producing honey

Before insulin was produced by genetic
engineering, it was extracted from animals.
Select the option that correctly states the
structure and animals w.r.t. above given

statement.

(1) Pancreas of cattle and pigs
(2) Blood of cattle and pigs

(3) Pancreas of fishes and frogs

(4) Liver of fishes and frogs

151.

152.

153.

SECTION-A
pBR322 ofl st @Uletoll AeelHi s
GRAUs 58 odlottddls YlARA 2ot uR
sl 82 ©. Aol UeCIHL SlAH-1 U SlAH-2
A3\,

SIAH- | SleH
a| Sall () |Am0clot yQus ol
b.| Pvul

c.| Pstl 1(IN2oratatscllot ulQAus osollot
d.| BamH |

a b c d
a1

m @
3 M
4) (In)
AULscUR oA Ul Aul %33 otell

(1) HuHlle Hlel Ancal we

(1)
(2)
(3)

(2) ay uls Gaulest Roelell
(3) AL AR UG Bell ULsetl dy URDletlet HIL
(4) HYU Geulestul

o ollot-eswa S A ei el

olollalellHl el A UdAl Aol YlRllRAMI

8ofcllot AR

RocelHl Aadl ol Al [Qulstott Aeein
ol Aol 2o [@Ascu urle s3.

(1) Wl A ejseil eugsuiell Aocald
(2) Wl s ejsel F@uiell Ancld

(3) Ul U Esslotl eugsHiell Anald

(4) MOl ual Esslotl agldniell Anag
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154.

155.

156.

157.

Choose the option that completes the analogy

correctly.

Bacteria : Lysozyme : : Fungus :
(1) Cellulase

(2) Protease

(3) Nuclease

(4) Chitinase

A farmer has been breeding closely related cows
and bulls of same breed to produce better
that

produced after few generations is weaker. What

offsprings. He observes the progeny

can be the possible solution to restore the quality

of the progeny?
(1)

He should continue with same breeding

method

He should cross the cattle with a different

(2)

superior breed

He should cross the progeny with unrelated

(3)

superior individual of the same breed

He should give better nutritious food to the

(4)

cattle

Read the following options carefully and select

the one with all marine fishes.
(1) Prawn, Hilsa, Sardines
(2) Pomfrets, Hilsa, Rohu

(3) Pomfrets, Sardines, Hilsa
(4) Hilsa, Mackerel, Lobster

Proteins produced by Bacillus thuringiensis Kill

which of the following?

(1) Coleopterans like beetles
(2) Lepidopterans like flies
(3) Dipterans like armyworm

(4) Lepidopterans like mosquitoes

154.

155.

156.

157.

AUofgudl Yol 52U

AseIal : ARIBIEBH : : $OL
(1) ARAY}

(2) WA

(3) AN

4) sl8dlaxn

AU Vgl WS % Wlcloll A ol WMHALRA
AR AR Aale Aol 12 Yolot sAA
8. 3edls VAR ugl Gaur adl Adl
slolofl el B Al Ul AcdAell A3 oLttt
g3lell Ul sal W2 AQl g 54 AeA?
Al A % AsNL UG A HsA

AQ ylele] W A6 Hctotl YRl A s
sAclq HBA.

A yellef A % ol A wioiB el
A AW s2Ucld BsA

AQ YRl AR W5l Ysel AUSR AU
A\ESA.

eRay HRAl deelHl WA @Qseu urle
53

(1) Bou, Berut, AR\t

(4)

(2) duke, (e, Qg
(3) du¥e, RS, Beru
@) Rea, e, AR

ARAA YREBARU gl Gkt Wdlat
(Aol sl U3 ol B?

(1) slcdlQRRAsU ¢joL sleslal
2) ARl A
(3) SRl Als Sleslal
(4) ARSIl HA9Aa
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158.

159.

160.

Select the correct statement w.r.t. MOET.

(1) Fertilised eggs at 32 to 64 celled stages are
recovered non-surgically and transferred to

surrogate mothers

(2) Fertilised eggs at 2 to 32 celled stages are
recovered surgically and transferred to

surrogate mothers

(3) Fertilised eggs at 8-32 celled stages are
recovered non-surgically and transferred to

super-ovulated mothers

(4) Fertilised eggs at 8-32 celled stages are
recovered non-surgically and transferred to

surrogate mothers

Read the given statements and select the

correct option.

Statement A: The Indian Government has
organisations such as Genetic Engineering
Application Committee which make decisions
regarding the validity of GM research.

Statement B: India has only 20,000 varieties of

rice.

(1) Only statement A is true

(2) Only statement B is true

(3) Both the statements are true
(4) Both the statements are false

Biolistics is a method which involves the use of
microparticles. These microparticles generally

comprise

(1) Gold or aluminium
(2) Aluminium or tin
(3) Gold or tungsten

(4) Tungsten or copper

158. MOET oil declul A1y (Qulst urie s3.

(1) $Ad visslnetl 32 2l 64 s1{lat WU A
(Bl cOLR Yltet sl AUA B sl eyl
HicAletl defl Ul doleldd sRpA2A B.

2) $@Ad issetl 2 &l 32 s\l wcRUR Aa
dtsauell yltet seuHl wa 8§ el eugdl
HicRAletl dlefl UMl doleldd sRpA2A B.

(3) $(Ad isslell 8 &l 32 s\l wcRUR Aa
(5L R Ylled sclHl WA B wa ay
UsUS 5l Hlcdlletl dledaaMl doele
sAAU V.

4) Ad issell 8 ol 32 slnflat wcRUR A
(5L cOLR YLt sl AUA B sl eyl
HicAlotl dlell 2l dolela spAA B.

159. o{lQotl (Atulell i WA AR [@Ascu e s

Qeltet A: (URA URS1R WA ¥A8ls Aeollauilol
AcllBoet sHlEl Bl WwARN B ¥ %ol
URalld 2uolloll @ QA (ol A B.

Qeltet B: GURA WA H12L 20,000 B2l Awie{l
Al .

(1) 1oL Quist Ay B.
(2) M Quet B ALY B.
(3) ola [Qulet WAL B.
(4) o [Qutet vial .

160. F-YARSIHL B Yeuslol GuAdl ARl B d
UM 3lA Aol HaAcll Sl BD.

(1) Aoj AU ARARUA
(2) AcPRan uaal ot
(3) Ao AUl 2012l

(4) éoR2al AUl SlUR
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161.

162.

163.

164.

When

is obtained.

and are crossed, a mule

Fill in the above blanks by choosing the suitable

option.

(1) Male mule, female mule
(2) Stallion, female donkey
(3) Male donkey, jenny

(4) Mare, male donkey

During isolation of genetic material, DNA can be

spooled out

(1) After addition of chilled ethanol
(2) Before addition of chilled ethanaol
(3) After addition of warm ethanol
(4) Before addition of warm ethanol

The milk produced by the transgenic cow, Rosie,

was rich in

(1) Bovine alpha-lactalbumin
(2) Human beta-lactalbumin

(3) Human alpha-lactalbumin
(4) Porcine alpha-lactalbumin

Match the following techniques or instruments

listed in column | with their usage in column Ii
Column | Column Il
a. ELISA (i) Amplification of gene

(DNA) of interest

b. Bioreactor (i) Separation of DNA

fragments

c. PCR (iii) Detection of pathogen
based on antigen-

antibody interaction

d. Electrophoresis (iv) Production of large

quantities of products

161.

162.

163.

164.

YR Ul ol ALl HL AL

D RUR WRAR Gaur Al B.

ARA @Qscu urie 531 wiell ol udle s
(1) ol WRAR, HIEL WRAR

(2) olR S, HIEL S

(3) <R LA\, Boll

(4) HLEL A8, o2 21BS

wollol acaloll WAI(ls0L e[t DNA A SR
Wy(Aotell wslR steail wa B

(1) 85l 8ol Rl ugdl
(2) 65\ Al GRAUT Udcll
(3) 2RH 8ol BRAUL ULl
(4) dRH 8Alcd GRAL Ul

wRyoto{lells o — Rosie o o{lAstniell s
t2s GRYR HIUHL YRld ©

(1) utellzAle] 2ucst-Asaleejollst
(2) Hoprie] ollet-Asalcyollst
(3) Hofria] Alcsl Aseleyellot
(4) [sq] uuesl Asalejollst

o(lAco{l ugld wuAU AUARA AHo(l ugld W
RS\,

sled-| slet-l
a. ELISA () gl ollote] yaitlol
b. Ramdl (i) DNA vidle] uctollsel
c. PCR (iil) o) oot -R Bl

B 2R
AdLs1R5l] [AElet

d o sassRdla (V) ay wouni «lusle

Bauleat
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Select the correct option from the following.

165.

166.

167.

168.

a

(iif)

b
(iv)
(i)
(i)
(ii)

Cc

(i)
(iif)
(iif)

(ii)
(iv)

165.

Which of the following can be used as an

example of cross-breeding?
(1) Horse x Donkey

(2) Hisardale x Hisardale
(3) Jersey x Sahiwal

(4) Leghorn x Leghorn

The correct sequence for each cycle in

Polymerase Chain Reaction (PCR) is

(1) Extension, Annealing, Denaturation
(2) Denaturation, Annealing, Extension
(3) Annealing, Denaturation, Extension
(4) Denaturation, Extension, Annealing

Antisense technology has been used for which of

the following?

(1)

Production of somaclonal varieties in tissue

culture

Development of biofortified crop like Golden

(2)

rice
3)
(4)

Fishery includes rearing, catching, selling, etc. of
(1) Only fishes
(2) Only fishes and molluscs

To promote ripening of transgenic tomato

To prevent early ripening in Flavr Savr tomato

(3) Fishes, molluscs and crustaceans

(4) Fishes, molluscs, crustaceans and aquatic

plants

166.

167.

168.

AR [@scu ude s

a b c d

(1) (i) (v) (@) (i)
(2 (i) (i) (@) (iv)
@) (v) () (i) (i)
@) @) () (i) (iv)

o(lActiHiell 53 UR Aadetoll GelsRl dly @y
AslA?

(1) Sl x o1s)

2) BuRdd x BuRdd

3) sl x wBauct

(4) QA8 x Q2o

PCR oll doissAloll ARN $H 520 ©?

(1) @Qaqdlszel, drumisgalld, [@Qaluollswel

2) @Qauo(lsRel, diuniseld, @Qaduollswe

3) dlurlegelld, (Qalallsel, @addlsel

@) @axolls:el, [@Qrddlsel, dtumiselld
ylel yel 2salldlyell Guallol Aotl M@ Ul 8?2

(1) el Aadetui ANsAtA Auetl [Aniel
Hl2

2) ¥QAs W\tRUHSs WS Bal ¥ Wadl Alwdlell
GeulEal M2

(3) %ollot URaAldd atRalal usaal Hi2

(4) sQaR-AcR aRelell wsatlell ybau @Qcolld
scll Hie

HRRL GadL sl Aol ussal, yusal sl ¥
ARAURL U AsnAA D.

(1) HL WA
(2) H WA Aol Y sl
(3) MO, Ygsla ua sl

4) Hodl, s, dRsall, ¥clla dotuldxl
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169. Select the option that includes characteristics

170.

171.

172.

applicable to plasmids.

a. Linear DNA

b. Circular DNA

c. Presentin all bacteria

d. Always contain essential genes

e. Extra chromosomal and self-replicating
b and d only

b and e only

b, ¢, d and e only

a only

of recombinant DNA

'Molecular scissors'

technology are

(1) Reverse transcriptases

(2) DNA polymerases

(3) Restriction endonucleases
(4) Ligases

A group of animals related by descent and similar
in most characters, like general appearance,

size, etc., are said to belong to a

Select the correct option to fill in the blank.
(1) Species

(2) Breed

(3) Family

(4) Hybrid

Read the following statements in context of
humulin produced by RDT and choose the
correct option.

Statement A : Bacteria are used as factories for
production of insulin since genetic code is
ambiguous.

Statement B : Production of insulin can occur in

E.coli since genetic code is nearly universal.

169. o{1A Usl wetosllse] celel 53

170.

171.

172.

a. {2l DNA

b. oluuslk DNA

c. ol % AseIlaul slR

d. 33 ¥elloll ¥ uAQA

e. ollg Rl ua %A Xt
H2 b ua d

H2 b ula e

2 b, ¢, dua e

U a

Yol DNA 2sollcdlpHi el sidR!
AA?

(1) 3o glesen

(2) DNA QdlHR»

(3) Arglsalot WeSlo2)(5ABN
(4) AUBAR

ugllell Al UHe ¥ Ydxl AU cUURAdLA
Ad AsUAA Sl ol Aol UMl Eulla,
delll, s, JU-Wisel aAdlR Fal H2l eldlell
Galell UHlet Sl AMal As %
uld B.

HL YoMl

ARA [@Aseu wie s
(1) = (2) *d
(3) s (4) UsR

gR|cllot B Yot:R(20Ycl DNA 250l slRL Geust
dlA B Aotl AealHl WA @Aseu ue s

[Qutet A : As2RaUl Brfcllotatl Geulest HIR ¥5231
A% auRlA B ke wollot AFA wrUe A
8.

(Quet B : 8oxjcllote] E.coli Ml Geulest U8 A3 B
51013 %oflot A3 WAs S B.
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173.

174.

175.

176.

(1) Both A and B statements are correct
(2) Both A and B statements are incorrect
(3) Only statement A is correct

(4) Only statement B is correct

A man is interested in starting sericulture. This
will involve rearing of which organism from the

given options?

(1) Apis indica

(2) Musca domestica
(3) Bombyx mori

(4) Catla catla

Genetic engineering involves all of the following,

except

(1) Alteration of genetic material

(2) Changes in genotype and phenotype

(3) Changes in genotype but not in phenotype
(4) Alteration of DNA and RNA

Which kind of therapy was given in 1990 to a four-
year old girl with adenosine deaminase (ADA)

deficiency?

(1) Gene therapy
(2) Radiation therapy
(3) Chemotherapy
(4) Immunotherapy

Pseudomonas putida is a microorganism used to
clear oil spills. It is commonly called as 'oil-eating

bacteria'. How was it produced?
(1) Occurs naturally

(2) Cross-breeding

(3) Genetic engineering

(4) Obtained by

denitrificans with Bacillus putida

crossing  Pseudomonas

173.

174.

175.

176.

(1) o [Qulet A ual B AR D.
(2) o [Qulet A ual B Wlel B.
(3) ML Quuet A MY B,
(4) ML Quet B ALY B.

As cAlsd AISCAR GAL AR sl HAL B. ¥
o{lActtHill sl Ucloll GV U AsnAA B?

(1) AUl 5151
(2) Hast SRSt
(3) alide 112l
(4) Secll sectl

wollot B¥AIl (QaHl ol AotiHiel Aol HHLA
Al o2l

(1) %ollot qcauHl 812
(2) AU YSR Aol wollotysiRul 3812

(3) ¥ollot USRHL %R%12 U @3U YsRHL
32812 ol

(4) DNA 4l RNA Hi ¥2812

1990 i 4 ato{l sl ADA ol Galu 12 s8¢
ARAR UMl 1l sdl?

(1) ®et AAUL

2) @QBRe wRaR
(3) RUARL AURAUR
4) yldRa URAR

RSl WElst Asilaul B LUAAL A UL
scll HI2 SRl ® Aal Act vl Ase3lau 53 ®
A 3cll A clottataHl Aa 8?2

(1) el A AR uAA B.
(2) URdAtet
(3) %ollot s¥AI| [Qauoll Heeell

(4) RYSHoUA Slottsglzsedt wual AMlatx RELSL
LAl sl
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177.

178.

179.

180.

181.

In a continuous culture system, cells are

maintained in
(1) Lag phase

(2) Stationary phase
(3) Steady phase
(4) Log phase

Which of the following biomolecules can be
considered as a probe when tagged with
radioactive molecule?

(1) Single stranded RNA only

(2) Either single stranded DNA or RNA
(3) Single stranded DNA only

(4) Double stranded DNA

Choose the correct match from the following.

(1) Inbreeding — Increases
heterozygosity

(2) Hisardale — Maharashtra

(3) Pashmina - Cow

(4) Turkey — Poultry

Retroviruses are related to animals as

are related to plants.

Select the correct option to fill in the blanks w.r.t.
genetic engineering.
(1) Agrobacterium tumefaciens

(2) Bacillus thuringiensis
(3) Escherichia coli
(4) Thermus aquaticus

As of today, we know more than 900 restriction
enzymes. These have been isolated from
of bacteria.

Select the correct option and fill in the blank.
(1) Less than 230 strains

(2) Less than 100 strains

(3) Less than 50 strains

(4) More than 230 strains

177.

178.

179.

180.

181.

A Al doHl 1ol 58 wcRAUMHL AWM

uld B?

(1) Lag phase (2) Ad@Ad vl

(3) RAR vl (4) Log phase

R RWlaAAslel R WA HscHl A R

ol Aottuiell s2 FAsmR] Nt d313 ad 8?2

(1) Ss-RNA
(3) ss-DNA

(2) ss-DNA or RNA
(4) dsDNA

21920 1S U¥E S

() ciadet  — @uueoHdls] YHl
AR

(2) Raurde T OHSRY

(3) ugllot - ouA

(4) 241 ~HRUGHR

Aalcusd ylellRA U AstuAd | wa ... A
cotu(d AA AsOAA B.

%oflot %3] [Aua Wojcella AA [@Ascu urie
ER)l

(1) AANAsAuH wpl3Rt

2) A{let YlewARaR{ln

(3) sARA sleus

(4) ay AsAdlsu

WP Bt 900 REs2Uat GRAUS welldl B. B
asedlae(l Hiell AncaHl we B.
ARA [@Qseu uie 531 vicl o yA

(1) 230 $cll ALl 1A
(2) 100 $cll ALl 1A

(3) 50 $cll B\ A

(4) 230 scll Ay Al
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182.

183.

The colonies of recombinant bacteria growing on
chromogenic substrate appear white in contrast
to blue colonies of non-recombinant bacteria

because of

(1)

Insertional inactivation of B-galactosidase in

non-recombinant bacteria

Insertional inactivation of B-galactosidase

(2)

coding gene in recombinant bacteria

(3)

Inactivation of glycosidase enzyme in non-

recombinant bacteria

(4)

Insertional activation of p-galactosidase in

recombinant bacteria

Some steps involved in the production of humulin
are given below. How many of them are part of

downstream processing?

(i) Synthesis of gene for human insulin artificially
(i) Culturing recombinant E. coli in bioreactors
(iii) Purification of humulin

(iv) Insertion of synthetic human insulin gene into
plasmid

(v) Introduction of recombinant plasmid into
E. coli

(vi) Extraction of recombinant gene product from

E. coli
(1) One (2) Three

(3) Two (4) Four

184. Match the columns and select the correct option.

Column A Column B

a. Ranikhet (i) Babesia

b. Babesiosis (i) Blastomyces

c. Avianinfluenza (i) Newcastle disease

virus

d. Blastomycosis  (iv) HsN1 virus

182.

183.

15 Ueldo{l slaIHl Yot:riAY AseIlauell

AAEA UEot 2w B, AR (Aotyot:iAYd

Aseilaell autsd Rl ol Bud . sia,....

(1) Qotyst:d0Yd AszRaMl p-AAslue3x3ell
[Aall A2t

(2) Yot:AAd AseIlaHi B-AsAUE3% Geut
5l ¥o{lotoll A A2l

(3) ot Yot AseIlauMl USRS
GRUse(l (A [AlBaucl

(4) Yot:AAd AseIlauHi B-AsAUE3% Geut
5l ¥oflotoll A UlBaul

grjcllol Gauleololl 32Clls dulsst UM

AUAAl B, aAdiell ¥edl dolssi Aofyclllsc

Bl wHule 87

() 0 A sycllot Geuteat scll olloto]
deAnel

(i) BBl Yot:dA W E. coli of dictat

(iii) &3clloto] ydlsel

(iv) 8ycllot  GaUleat sl
lsHlsHi A s:d.

50U %ollotal

(v) Yot wcsHlsal E. coli Hi EMMA $q
(vi) E. coli Hiell (A2l ollot ollucsej wctollsel
$2d.

(1) As (2) 2l
(3) & 4) AR
184. AU [Aseu ude 3l Hsst AL
sld-A sld-B
a. eV () aaxlau
b adflalallt () scrdlusu
C. Acflatet (iif) codect Slallos cues
SECIGRNE |

d sAasllla (V) HsNy cls

a b c d
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185.

186.

187.

a b c d
(1) (i) (@)  (v)
(2) (v) () (i) (i)

(3) (iv) (i) (i) (i)
(4) (v) () (i) (i)
Read the following statements.

a. Plasmids may have one or two copies per

cell.

b. Resistance against antibiotics is a property of

normal E. coli cells.

c. Selection of recombinants because of
insertional inactivation is an easy procedure
as it needs simultaneous plating on two

plates having different antibiotics.

Select the option which represents all true(T) or
false(F) statements correctly.

(1) (2)
(3) (4)

a(T), b(T), ¢(T) a(F), b(F), c(T)

a(T), b(T), c(F) a(T), b(F), c(F)

SECTION-B

Cloning at recognition sequence of which
restriction enzyme in pBR322 cloning vector does
not help in differentiating recombinants from non-

recombinants?
(1) Pstl (2) Clal
(3) Sall (4) BamH |
Biotechnology encompasses

(i) Natural in vivo fertilisation process

(it)y In vitro fertilisation leading to a 'test-tube'
baby

(iii) Developing a DNA vaccine

(iv) Artificial gene synthesis
(1) (@), (i), i), (iv) (2) (i), (iii), (iv) only

(3) (iii) and (iv) only (4) (i), (iii), (iv) only

185.

186.

187.

(1) (i) () (v) (i)
(2) (v) () (i) (i)
(3) (iv) (i) (i) (i)
(4) (v) () (i) (i)

o{lAetl ([Qeilell iR W AU vlel otssl s,

a. wllosHlsell uldsiy As waucl A oscA sl
.

b. ulQ¥lAs a2l WRA UlAs2 A AMIRL E.
coli o] c&lel B.

c. @Al Ul sRA Yot
ueoll As wR ylsal B sk A
yla®As acll upncdl IR @2 U Axell
GO As A salHl wa B.

a(T), b(T), ¢(T)

a(F), b(F), c(T)

a(T), b(T), c(F)

a(T), b(F), c(F)
SECTION-B

pBR322 cllssHi  saAl  (Rlselet  GRAUSl
AUOsH UR sAlo(lol sl Yot: Y Alal ([Glot
Yot:2(20Y Al ol 531 sl o18l?

(1) Pstl
(2) Clal
(3) Sall
(4) BamH |

AR sAAYHL qHAe B.

(i) g€l 8ot Al sctot

(i) 8ot (AR st gl 22eyol Aulls] Anll
(iii) DNA o] Anuiel

(iv) s xo{lot 2™l

(1) (), (i), i), (iv)

(2) (i), (iii), (iv)
(3) (iii) A (iv)
(4) (

)
)
)
4) (i), (iii), (iv)
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188.

189.

190.

191.

The recognition sequence of Hind 1l has ‘X’ base

pairs.

Select the correct option for ‘X'.

Which effect is provided by the agarose gel

during gel electrophoresis?
(1) Stabilising

(2) Sieving

(3) Spooling

(4) Recombinant

DNA

cell.

Microinjection introduces recombinant

into the nucleus of a/an

Fill in the given blanks respectively by choosing

suitable option.

(1) Directly, animal
(2) Indirectly, animal
(3) Directly, plant
(4) Indirectly, plant

A cloning vector is being constructed in a
laboratory. Which characteristics will you choose
from the following to form a cloning vector?

(i) Each restriction enzyme has one recognition

site.

(i) Each restriction enzyme has two recognition
sites.
(iii) Each

recognition sites.

restriction enzyme has multiple

(iv) Ori sequence is present.
(v) Ori sequence is not present.
(vi) Selectable marker present.

(vii) Selectable marker absent.

188.

189.

190.

191.

Hind 11 oll ARAOWsHHL X bp wAdl B.

X MR AR [Aseu urie s2A.
1) 4

2) 5

3) 6

4) 8

BA SAs2SRYUUHL AOURAR B glRL 58 WAUR
Y3l wsaumi w1 82

(
(
(
(

(1) RARCAL

2) unell Bl AR
(3) ycloL

(4) Yot:AA%s

e At AuRHl Yoty DNA ol yadal
Aa ol SIMZosHl sAcLUHL

uld O,

AR [Aseu wrie 831 ... YRl
(1) A ¥ yellsin

(2) uRle, uellsin

(3) Al %, dolruld sy

(4) uat, delruld s\

yououHl sclle{lol Hizell clssl olellalcll HIZ
sl AR UUE scUHL 1 B?

(i) €35 ZlsAot GRAUS WA A5 % WO ¥R
sl

(i) €35 st CGRAUS WA A WO ¥R
sl

(i) €35 IlsaAdt CGRAUS WA dy 3aw
RURAL Sl

(iv) Orio{l sl
(v) Orioll ARsL3|
(vi) ueo(lHieol 2us sl%R

(vii) U eI HLol 2us RSN
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(1) (i), (v), (vi) 1) (i), (v), (vi)

(1) (
2) (i), (iv), (vii (2) (i), (iv), (vii)
o ) (3) (i), (iv), (vi)
(3) (i), (iv), (vi) (4) (iii), (v), (vii)
(4) (iii), (v), (vii) 192. AolAseIlan Y ZRuUXM MR a-e Yol
192. Read the following from a-e and select the (Quuell cti wal WA [@Ascu e s3A.

correct ones for Agrobacterium tumefaciens. 2. delau@ 2 el Au dad .

b. el wollolls 8xa2 B.

c. cry%ollots] aset 531 A3 B.

a. Infects plants and animals.
b. s a natural genetic engineer.

c. Can carry the cry gene. .
y 9 d. A delRuAAAHL AoLsRs Aselal B,

d. Is a disease causing bacterium, in plants .
e. d slGetdlet I $2 V. (HO UR 2i6lell AdL)

only.
(1) a,b,c,e
e. Causes crown gall disease. (2) b,c,d, e
(1) a,b,c,e (3) HIA b, c, e
(2) b,c,d, e (4) H2 b, c,d
(3) b, c,eonly 193. PCR ol wgjctellal il [Quisll urie s3A.
(4) b, c,donly a. QA selclldl yBau .

193. Select the correct statements regarding PCR. .
b. Tag Wl dAluHlofelld dotsstil duRA

a. ltis an in vivo process. R

b. Taqg polymerase is needed during annealing. a4\ Q> [a%qcﬂswl AolsSLHL ULl

c. Taq polymerase is needed during extension. Y

d. It can be used for molecular diagnosis. d Q aela Retet 1 Gud B,
(1) candd only (1) o cua d

(2) bandd only (2) HIA b A d

(3) a,bandd 3) a,b 2 d

(4) a,candd @) a cud d

194. What is the reason for DNA not being able to pass .
194. DNA slRyuecHiall ol HIZ udR U8 sl

Al?

(1) DNA szl .

through cell membranes?
(1) DNA is hydrophobic

(2) DNA is lipophilic

(3) DNA is hydrophilic (2) DNA @RS el 8.

(4) DNA is positively charged (3) DNA ¥clleR1oll ®.

(4) DNA tiot(dseudld ®.
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195. For the process of recombinant DNA technology

196.

197.

198.

(1) Cloning vector and genome from donor cell
are always cleaved using different restriction

enzymes

Cloning vector is not cleaved but the genome
from donor cell is cleaved using a restriction

enzyme

Genome from donor cell and cloning vector
are cleaved using the same restriction

enzyme

(4)

Cloning vector and genome from donor cell

are ligated before cleaving
Sparger component of bioreactor helps in
(1) Purification of product
(2) Dramatically increasing availability of oxygen
(3) Release of preservatives into the product

(4) Ensuring anaerobic conditions in the culture

vessel

Read the following statements and select the

incorrect one.

(1) Human protein (o - 1 - antitrypsin) is used for

the treatment of a respiratory disorder
(2) Agarose is a plant based polysaccharide
(3) ELISA can be used to detect HIV

(4) Eli Lilly, an American company prepared only
one DNA sequence and introduced it in the
E. coli plasmid

Which of the following is true?

(1) EcoR | and Hind Il have the same recognition
sequence

(2)

Plasmid is ssDNA that replicates
independent of the chromosomal DNA

Insertional inactivation of the selectable
marker gene signifies successful
recombining of desired gene with cloning
vector

(3)

(4) Tiplasmid causes tumors in Panthera tigris

195. Yot:{2AWcl DNA (Bauf@ell 1

196.

197.

198.

cles ua [Atell DNA A el yel Irglsalat
GRUSI stucuHi A 8.

(1)

clesal AsHl Al otell uRd (A&l DNA
A lsoet GRUsAL stucuHl wa .

dlss el ([AEAl DNA A As ¥ Alsaet
GAUsY stucHl w1 B.

(2)
(3)
ales wal (A2l DNA A stUctl USEL s cltHi

uld V.

BBl Asts AML HEERU B ?

(4)

(1) ollussell g(&seIul

(2) WEAWotoll HIAHL otleslal A sclHl
(3) olluui uR2&tsl GRRa M2

(4) BaeglHi wxRs UWRRAMLA stnaei

ol Aot [Quutell iR ol W2l [Aseu e s
(1) Hopof WA (@ - 1 - WAlElwlla)
Aotc2Aoll Aolo{l ARARHL auRA B.
WOURLS clotuAniell yiid Wellazuss ®.
ELISA oll GUloL HIV ol ustellil a .

WA\ sot sUoll 8l AlellA HioL DNA ol As
s dalr s3lal 8.51ctsell wosHlsHl etwe
sl

o(lAotiuiell 9 U B2
EcoR | wa Hind Il olglell MOHSH AHLel D.

wcsHls ssDNA ® % 20142(12L DNA &l sl
AQ Rixotot WA B,

udedlitet dusell @Al glacdia sk
B8t wollot ual clesal usaAlyds A8l
aslA V.

Ti wetosHls ol 2tesoflml Aot YRs .
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199. Complete the analogy. 199. ofUdl HQT 53\,

Zinc ions : Enzyme activation : : Calcium ions : Bis wl2lel - Gca?«laoj aBasel - M@

Bt

1) Making bacterial cells competent
M g P (1) AseRaAA SIa UaH wstlelal

2) Used in PCR
(@) Usedin (2) PCRHL Guaoll

(3) Create pores in E. coli _
(3) E. coli Hi B Gcurt 53 B.

(4) Downstream processing
(4) Befyclldd ylsau
200. Assertion (A): E.coli having pBR322 with an

insert at Pvu | site becomes ampicillin sensitive. 200. (Aot (A): pBR322 HRldcll E.coli Wl wUR Pyul

ol MO RAUA BuIld DNA €A Sl A
A Alotell YA 531 ascll otell.

5120 (R): pBR322 Pwvu Il glsalel GAUSHA
WO HRUL tefR UR WA B.

Reason (R): Recognition site for Pvu Il is present
in tet? gene of pBR322.

In the light of above statements, choose the

correct answer from the options given below.

(1) Both (A) and (R) are true and (R) is the GURAsc (Qutollott AeciHi AR [@Aseu e sA.
correct explanation of (A) (1) ol [Qusll (A) AR (R) AL B. (R) A (A) ol
(2) Both (A) and (R) are true but (R) is not the Ayl .

correct explanation of (A) 2) ol Qeell (A) uUA (R) AL B, Ud (R) A
(3) (A)is true and (R) is false (A) ol Anxdl el
(4) (A)isfalse and (R) is true (3) (A) ALY Aol (R) W B.

(4) (A) W ua (R) ALY B,

(I I

For Answers & Solutions
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